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419 | ABTYVEE )~V —T F )L
420 | AH Y LERAT L 234 120 1.4 355
421 [A—AFVF o AFEH —2—F v
122 | T=Uisy 1571 1571
423 AFATI 0.0004 0.0004
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430 (A RXY T
131 |7/ % L ANREY 207 207
132 7R 20 20
133 H—rD 600 600
134 AF L
135 | EUS /S oI AT 157 157
436 |[TNT 7 —AFNAF L
437 |3—AFNF AT —)v
138 AFATFTHLL 19 320 0.58 0.0007 339
439 |3—AF NV

1—AF )N —1—Tz=/L=F )L =bRa~
a10 )T 0.001 L1 L1
2= (U= AFATEEL) —4, 6-Y=}n

Tx/)—)V
442 [ A7 ma=)v
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MEFGFR35 HEHIRAI - R G P BRI OPE B HERH R R CTAR2EE IO IR (1. IR H e A DO L EIY PL F~22. —RBEREY I B i ]

L TR (ke T 5 = > g TEQ/TE)
- J—T%%@ 2 3 4 5 6 7 8 9 10 11 12 13 15 16 17 18 19 20 20 21
8 WH HEXAL ax | mwn | @ ey | WEDSIS VAL BRRGHI | PR | s ey AT S| A AV AR | EaH | EGE | AL | AR
w7 TR B RAA BAAL B TR e | wa | v | om | HEE R wm B | U | oo | RwE | RWE | M
443 | AV 367 367
444 |N)7a¥ T ARaE v 26 26
445 | JVYHRV DAFIV 344 344
446 |4, 4 —AFLLUT =
147 AFLUER(4, 1—vranFily) =
AT F—h
448 )(7“\/:/11\7((4, 1—Tx=b ) =AYy 11 0.13 11
P

449 | T AT 4T 7 I
450 BT FHNLT 96 96
451 |2—ARKY —5—AFNT =V
452 |2—= AT WSS F T =) 0.26 0.26
453 | BVT T ROZEDILEY 1.9 119 121
454 |2— (BRI ) OFH) RS FT =)L
455 |[E/NRY 12 18 30
456 |WAALT NI=0 A 55 55
457 |V Ua)VRA 759 759
458 |WABEN A (2— 2 F L~Fi L)
459 WABRR A (2— Zamo L) 0.59 0.59
460 | ABERY RV 0.85 0.85
461 WABRN) 7 ==L 1.8 1.8
462 [WARRN— /== T F )L

(=) i 268,507 110,908 3,780 9,049| 2,822,441 25,128] 581,507 93,730] 58,616/ 10,036 806,333 20,356 56,050 101,904 3,836 229| 1,628 115,687 831] 140,029 63,323 2,177] 5,295,254
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